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Question- 1

In 2ach of the following guestions, find out which of the sentence has no error. If there is no mistake, the answer is
‘Mo error’”,

The Headmaster said that (a) f Sachin was capable of doing (b) / more better work: (c) / Mo error (d)

(&) The Headmaster =aid that

(B} 5rini was capable of doing

{C} more better work.

[D) No error

Ans:

Replace ‘more’ by ‘much’

Question: 2

In-each of the following questions, find out which of the sentence has no error. if there is no mistake, the gnsweris
'Mo error’

Hardly had the children (a) / left the school [b) f than it begen to rain. (c) / No error

(&) Hardly had the children

(B} left the school

(C) than it began to rain.

[D) No error

Ans:C

Replace than' by 'when'.

Question: 3

In each of the following guestions, find out which of the sentence has no error. If there is no mistake, the answer is

‘No error’



Some artists have taken z clue (a) / from medisval miniatures; our 2pics and mythology (b) f and created works

which please (¢} / with their acute colour sensze and skilful handling. [d) No error (e)
[A] Some artists have taken a clus

{8} from medieval miniatures; our epics and mythology

(C) and created works which please

(D} with their acute colour sense and skilful handling.

Anz: A

Replace clue’ by 'cus’

Question: 4

In each of the following guestions. find out which of the sentence has no error. if there is no mistake, the answer is
‘Mo error’.

When you have {a) / read theze books, (b) / please return them to me. (c) f No error (d)
(A} When you have

(B} read these books,

(C) please return them to me.

(O} Mo error

Anz: &

Replace ‘when' by "After’

Question: 5

In 2ach:-of the following guestions, find out which of the sentence has no error. If there is no mistake, the answer is
‘Mo error’.
When we consider all the factors, which are many, {a) / the number of school dropouts (b) / are guite disturbing.

{c) / Mo error (d)
(&) When we consider all the factors, which are many,

(B} the number of school dropouts



[C) are guite disturbing.
(D} No error
Ans:C

Replace ‘are’ by ‘is’.
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